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1. Solve the given initial-value problems.
(a) (e"+y)dx+2+x+ye’)dy=0,y(0)=1 (15%)

(b) y"+4y+dy=(3+x)e,y(0)=2, y(0)=5 (15%)
2. Find i (¢) and i, (¢) under the conditions, E(t)=60V, L=1h, R=5042, C=10"*f, and

the currents i (f) and i, (¢) are initially zero, via the Laplace transformation
method in Figure 1. (15%)

Figure 1 Electrical network




3. (a) Find the area of the triangle determined by the given points.
P1(1:2:4): P2(11'1:3): P3(_1:'1:2)' (15%)

(b) Find the volume of the parallelepiped for which the given vectors are three
edges.
a= i+j, b= -it+4j, c= 2i+2j+2k. (15%)

0 1 0
4. (a) Find the eigenvalues and ‘the eigenvectors of the matrixA=|1 0 0]. (15%)
0 0 1

(b) Find the inverse matrix of the matrix P that diagonalizes A. (10%)




